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1. Find the slope of a line which passes

through the points (3, 2) and ( — 1, 5)

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MojI8bChgH1H

2. Find the slope of the lines passing through
the points

(3,-2) and (-1,4)

o Watch Video Solution

7r
3. If the angle between two lines is 1 and

slope of one of the lines is E,ﬁnd the slope of

the other line.

o Watch Video Solution



https://dl.doubtnut.com/l/_MojI8bChgH1H
https://dl.doubtnut.com/l/_opumx5wbRCw9
https://dl.doubtnut.com/l/_9bYc9gvBjmbv

4. Line through the points (-2,6) and (4,8) is
perpendicular to the line through the points

(8,12) and (x,24).Find the value of x.

o Watch Video Solution

5. Three points P(h,k),Q(:i;l,yl) and

R(z2,y2) lie on a line. Show that

(h —z1)(y2 — 1) = (b — 1) (z2 — 21)

o Watch Video Solution



https://dl.doubtnut.com/l/_9bYc9gvBjmbv
https://dl.doubtnut.com/l/_iOLEmhaEmEfL
https://dl.doubtnut.com/l/_9Rx3nLJPldWf

6. In the Figure, time and distance graph of a
linear motion is given. Two positions of time
and distance are recorded as, when
T=0,D=2 and when T =3,D =8
Using the concept of slope, find law of motion,

l.e., how distance depends upon time.

o Watch Video Solution



https://dl.doubtnut.com/l/_h85DXWqan957

7. Draw a quadrilateral in the Cartesian plane,
whose vertices are ( —4,5),(0,7), (5, — 5).

and ( — 4, — 2). Also find its area.

° Watch Video Solution

8. The base of an equilateral triangle with side
2a lies along the y - axis such that the
midpoint of the base is at the origin. Find

vertices of the triangle.

| e |


https://dl.doubtnut.com/l/_h85DXWqan957
https://dl.doubtnut.com/l/_C1I9k7kD2fdB
https://dl.doubtnut.com/l/_Z12DXkMg0qoC

& Wwatch Video Solution I

9. Find the distance between P(z,y;) and
Q(xz2,y2) when : (i) PQ is parallel to the y

axis, (ii) PQ is parallel to the z - axis.

° Watch Video Solution

10. Find the point on the x-axis which

equidistant from the points (7,6) and (3,4)

o Watch Video Solution



https://dl.doubtnut.com/l/_Z12DXkMg0qoC
https://dl.doubtnut.com/l/_8Zw2t31IvRKB
https://dl.doubtnut.com/l/_6I8feYyChC2w

1. Find the slope of a line, which passes
through the origin, and the mid-point of the
line segment joining the points P(0, — 4)

and B(8, 0).

o Watch Video Solution

12. Without using the pythagoras theorem,
show that the points (4,4),(3,5) and
( — 1, — 1) are the vertices of a right angled

triangle

| & I


https://dl.doubtnut.com/l/_eg3LIzo4KSD2
https://dl.doubtnut.com/l/_mvMOwVS4AZNi

| ¥ Watch Video Solution |

13. Find the slope of the line, which makes'
angle of 30° with the positive direction of y-

axis measured anticlockwise.

o Watch Video Solution

14. Find the value of x for which the points

(x,-1),(2,)and(4,5) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_mvMOwVS4AZNi
https://dl.doubtnut.com/l/_IdmsjAJkECaB
https://dl.doubtnut.com/l/_APqi9rvEGPhA

15. Without using distance formula, show that
points ( — 2, — 1), (4,0),(3,3) and ( — 3, 2)

are the vertices of a parallelogram.

o Watch Video Solution

16. Find the angle between the positive x-axis

and the line joining the points (3,-1) and (4,-2).

° Watch Video Solution



https://dl.doubtnut.com/l/_OlWvrp9uAYeU
https://dl.doubtnut.com/l/_W413nj47MLS1

17. The slope of a line is double of the slope of
another line. If tangent of the angle between

them is 3 find the slopes of the lines.

o Watch Video Solution

18. A line passes through (z1, ;) and (h, k).
If slope of the line is m, show that

k—y1=m(h—$1)

o Watch Video Solution



https://dl.doubtnut.com/l/_tS8BqYGdXrIS
https://dl.doubtnut.com/l/_Md7Do8JPsuUa
https://dl.doubtnut.com/l/_HoQlbHPDraq6

19. If three points (h, 0), (a, b) and (0, k) lie
b

on a line. Show that % + =1

o Watch Video Solution

20. Find the equations of the lines parallel to

axes and passing through ( — 2, 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_HoQlbHPDraq6
https://dl.doubtnut.com/l/_JRAmiDbPbien

21. Find the equation of the line through

( — 2, 3) with siope —4

o Watch Video Solution

22. Find the equation of the line passing

through the two points (1,-1) and (3,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_ue5FTJhdeH5e
https://dl.doubtnut.com/l/_gW7csUMChPmG

23. Write the equation of the line for which

tanf = 3 where 6. is the inclination of the
line and (i) y - intercept is — 3 (i) = -intercept
is 4.

° Watch Video Solution

24. Find equation of the line which makes
intercepts -3 and 2 on the X and Y axes

respectively. Find its slope.

° Watch Video Solution



https://dl.doubtnut.com/l/_EIFAN3vODzxX
https://dl.doubtnut.com/l/_za4UQHDgm0WS

25. Find the equation of the line whose
perpendicular distance from origin is 4 units
and the angle which the normal makes with.

positive direction of x - axis is 15°

o Watch Video Solution

26. The Fahrenheit temperature F' and
absolute temperature K satisfy a linear
equation. Given that K = 273 when F = 32

and that K = 373 when F' = 212. Express K


https://dl.doubtnut.com/l/_za4UQHDgm0WS
https://dl.doubtnut.com/l/_MONsDXQKE0rW
https://dl.doubtnut.com/l/_ebTv5nKlhn1y

in terms of F and find the value of F', when

K = 0.

° Watch Video Solution

27. In exercise 1 io 8 find the equation of the
line which satisfy the given condions.

Write the equations for the x -and y axes.

° View Text Solution



https://dl.doubtnut.com/l/_ebTv5nKlhn1y
https://dl.doubtnut.com/l/_gTYA8XBTDKk5

28. Find the equation the following lines
satisfying the given conditions.

1
passing through the point (-4,3) with slope 2

o Watch Video Solution

29. Find the equation of the line passing

through (0, 0) with slope m.

° Watch Video Solution



https://dl.doubtnut.com/l/_IPrLAGAFcRSr
https://dl.doubtnut.com/l/_XViVVUm5xjS9

30. Find the equation of the line passing
through (2, 2\/5) and inclined with the z -axis

at an angle of 75°

o Watch Video Solution

31. Find the equation of the line intersecting
the x-axis at a distance of 3 units to the left of

origin with slope -2.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZyofxBW2N5sX
https://dl.doubtnut.com/l/_Jv86QAFPb5KK
https://dl.doubtnut.com/l/_XEoFdEMeUm65

32. Find the equation of the line Intersecting
the y - axis at a distance of 2 units above the
origin and making an angle of 30° with

positive direction of the z -axis

o Watch Video Solution

33. Find the equation the following lines
satisfying the given conditions.

passing through the point (-1,1) and (2,-4).

o Watch Video Solution



https://dl.doubtnut.com/l/_XEoFdEMeUm65
https://dl.doubtnut.com/l/_tEt8uPKjH6hQ

34. Find the equation the following lines
satisfying the given conditions.

perpendicular distance from origin is 5 units
and the angle the perpendicular makes with

the positive direction of x-axis is 30°.

o Watch Video Solution

35. The vertices of AN PQR are
P(2,1),Q(—-2,3) and R(4,5). Find

equation of the median through the vertex R.

| & I


https://dl.doubtnut.com/l/_yFr4DCZ1WzQc
https://dl.doubtnut.com/l/_9azX3Aomysgk

| ¥ Watch Video Solution |

36. Find the equation of the line passing
through the point (-3,5) and perpendicular to

the line through the points (2,5) and (-3,6).

o Watch Video Solution

37. A line perpendicular to the line segment
joining the points (1, 0) and (2, 3) divides it in

the ratio 1: n. Find the equation of the line.

o Watch Video Solution



https://dl.doubtnut.com/l/_9azX3Aomysgk
https://dl.doubtnut.com/l/_Qrp5ExJpKtc1
https://dl.doubtnut.com/l/_vEdndIjQ0Z9F

38. Find the equation of the line that cut off
equal intercepts on the coordinate axis and

passes through the point (2,3)

o Watch Video Solution

39. Find the equation of the line passing
through the point (2,2) and cutting off

intercepts on the axis whose sum is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_vEdndIjQ0Z9F
https://dl.doubtnut.com/l/_oegDMrNRN2Z1
https://dl.doubtnut.com/l/_umCFnY9aSM0j

40. Find the equation of the line through the
: , 2T

point (0,2) making an angle 3 with the

positive z -axis. Also, find the equation of line

parallel to it and crossing the y-axis at a

distance of 2 units. below the origin.

o Watch Video Solution

41.The perpendicular from the origin to a line
meets it at the point (-2,9),find the equation

of the line.


https://dl.doubtnut.com/l/_umCFnY9aSM0j
https://dl.doubtnut.com/l/_TReyjQeJCmdJ
https://dl.doubtnut.com/l/_75Vb5PQUCzpO

° Watch Video Solution

42. The length L (in centimetres) of a copper
rod is a linear function of its Celsius
temperature C. In an experiment, if

L = 124.942 when C = 20 and L = 125.134

when C = 110, express L in terms of C.

° Watch Video Solution



https://dl.doubtnut.com/l/_75Vb5PQUCzpO
https://dl.doubtnut.com/l/_MnRtFAfNsyzH

43. The owner of a milk store finds that, he can
sell: 980 litres of milk each week at Rs. 14/litre
and.1220 litres of milk each week at Rs. 16/litre.
Assuming a linear relationship, between
selling price and demand, how many litres

could be sell weekly at.Rs. 17/litre?

o Watch Video Solution

44, P(a,b) is the mid-point of a line segment

between axis. Show that equation of the line is


https://dl.doubtnut.com/l/_6gjeN5jmTgOC
https://dl.doubtnut.com/l/_FRBNIQigYQHr

x Yy
I A
a+b

o Watch Video Solution

45, Point R (h, k) divides a line segment
between the axes in the ratio 1: 2. Find the

equation of the line.

o Watch Video Solution

46. By using the concept of equation of a line,

prove that the three points (3, 0), ( — 2, — 2)


https://dl.doubtnut.com/l/_FRBNIQigYQHr
https://dl.doubtnut.com/l/_5d7Kj5ueQFl9
https://dl.doubtnut.com/l/_dk88mBpnToqE

and (8, 2) are collinear.

o Watch Video Solution

47. Consider the -equation of the line
3r —4y+10=20
Find its

x and y intercepts.

° Watch Video Solution



https://dl.doubtnut.com/l/_dk88mBpnToqE
https://dl.doubtnut.com/l/_savYVx7wSw5C

48. Reduce the equation /3z +y—8=0

into normal form. Find the values of p and w.

o Watch Video Solution

49. Find the angles between the lines

y—+/3x—5=0and3y—x+6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_bisQOW4tVIjA
https://dl.doubtnut.com/l/_A4OyP4prf0iK

50. Show that two lines a;x + by +¢4 =0
and asx + by +cy = 0. where by,by #0

are:

. . a a
(i) Parallel if N —z,and

1 2

(i) Perpendicular if ajay + 610y = 0

o Watch Video Solution

51. Find the equation of the line parallel to
x —2y+ 3 =0 and passing through the

point (1,-2).

| & I


https://dl.doubtnut.com/l/_ZywIseqU54BT
https://dl.doubtnut.com/l/_SIe2L5L1zzac

| ¥ Watch Video Solution |

52. Find the distance of the point (3,-5) from

thelinedz —4y — 26 =0

o Watch Video Solution

53. Find the distance between the parallel

lines.

3r —4y+7=0and3z —4y+5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_SIe2L5L1zzac
https://dl.doubtnut.com/l/_XV66ITMOa1UX
https://dl.doubtnut.com/l/_oKtEaQH9hbCc

54. Reduce the following equations into slope
intercept form and find their slopes and the y-
intercepts.

e +T7y=20

i) 6x +3y—5=20

(i) y = 0

o Watch Video Solution

55. Reduce the following equations into

intercept form and find their intercepts on the


https://dl.doubtnut.com/l/_ICduDj3QhgUd
https://dl.doubtnut.com/l/_VY2QZlV1QiYv

axes.
)3z +2y—12=0
iiydr — 3y = 6

ii)3y + 2 =0

° Watch Video Solution

56. Reduce the equation =z —y =4 Iinto

normal form.

o Watch Video Solution



https://dl.doubtnut.com/l/_VY2QZlV1QiYv
https://dl.doubtnut.com/l/_ROVMoIp2aUFG

57. Find the distance between the given point
and the line.

Line 12(z 4 6) = 5(y — 2) and point (-1,1)

o Watch Video Solution

58. Find the points on the =z -axis, whose

distances from the line %—l— 4 — 1 are 4

4

units.

o Watch Video Solution



https://dl.doubtnut.com/l/_If5o2pgaxyD0
https://dl.doubtnut.com/l/_6JQR2Dr8Gx9F
https://dl.doubtnut.com/l/_Ol8hOGG7SNhn

59. Find the distance between parallel lines
i) 15z + 8y —34 =0and 152z + 8y +31 =0

il(z+y)+p=0andl(z+y) —r =0

o Watch Video Solution

60. Find the equation of the line parallel to the
line 3z — 4y + 2 = 0 and passing through

the point (-2,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_Ol8hOGG7SNhn
https://dl.doubtnut.com/l/_xFR9Pz6eFWqm
https://dl.doubtnut.com/l/_FeG80AerNeDN

61. Find the equation of the line perpendicular
to the line z —7y+ 5 =0 and having x-

intercept 3.

o Watch Video Solution

62. Find the slope of the straight lines
Vidz+ty=1z+,3y=1

Also find the angles between them.

o Watch Video Solution



https://dl.doubtnut.com/l/_FeG80AerNeDN
https://dl.doubtnut.com/l/_kv8T8F4sdG3R

63. The line through the points (h, 3) and
(4, 1) intersects the line 7x — 9y — 19 = 0 at

right angle. Find the value of h.

o Watch Video Solution

64. Prove that the line through the point
(r1,v1) and parallel to the line
Ax+ By+C =0 is

Alx —x1) + Bly—y1) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_7sBeYL7YjSWh
https://dl.doubtnut.com/l/_D1gDXjw20o4w

65. Find the equation of the perpendicular
bisector of the line segment joining the points

(3,4)and ( — 1, 2)

° Watch Video Solution

66. Find the coordinates of the foot of the
perpendicutlar from the point ( — 1, 3), to the

line3x — 4y — 16 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_D1gDXjw20o4w
https://dl.doubtnut.com/l/_Tz6HJWwEewuH
https://dl.doubtnut.com/l/_kSfCFoqPaj0l

67. The perpendicular from the origin to the
line y=mx +c meets it at the point

( —1,2). Find the values of m and c.

o Watch Video Solution

68. In the triangle ABC with vertices
A(2,3),B(4, —1) and C(1,2). Find the
equation and length of altitude from the

vertex A.

° Watch Video Solution



https://dl.doubtnut.com/l/_VN8lCKD0Czgc
https://dl.doubtnut.com/l/_3Vlr3eW8y5hH

69. If' p is the length of perpendicular from the
origin to the line whose intercepts on. the

axes are a and b, then show that

1 1 1

p

2 E—'_Iﬂ

o Watch Video Solution

70. If the lines
2¢+y—3=0,52+ky—3=20 and

3rx — y — 2 = 0 are concurrent, find the value

of k.


https://dl.doubtnut.com/l/_3Vlr3eW8y5hH
https://dl.doubtnut.com/l/_iq7Z90RZZk8O
https://dl.doubtnut.com/l/_4R0tfF6EC5vP

° Watch Video Solution

71. Find the distance of the line 40 —y =0
from the point P(4,1) measured along the
line making an angle of 135° with the positive

T - axis.

o Watch Video Solution

72. Assume that straight lines work as the

plane mirror for a point,find the image of the


https://dl.doubtnut.com/l/_4R0tfF6EC5vP
https://dl.doubtnut.com/l/_tuBNmpEe42nj
https://dl.doubtnut.com/l/_RWYS8swam9Qm

point (1,2) in thelinex — 3y +4 =20

o Watch Video Solution

73.Show that the path of a moving point such
that its distance from two lines 3x — 2y = 5

and 3z 4 2y = 5 are equal is a straight line.

o Watch Video Solution

74. Find the values of 6 and p if the equation

x cos § + ysinf = p is the normal form of the


https://dl.doubtnut.com/l/_RWYS8swam9Qm
https://dl.doubtnut.com/l/_pGrYO5WOsHXm
https://dl.doubtnut.com/l/_xcJ3rpXIM4By

line 3z +y+2=0

o Watch Video Solution

75. Find the equations of the lines, which cut
off intercepts on the axes whose sum and

product are 1 and — 6. respectively.

o Watch Video Solution

76. Find the points on the z -axis, whose

distances from the line %—l— % — 1 are 4


https://dl.doubtnut.com/l/_xcJ3rpXIM4By
https://dl.doubtnut.com/l/_IwJoGNVSVlOX
https://dl.doubtnut.com/l/_5pxYYs2gxIIZ

units.

o Watch Video Solution

77.Find the equation of the line parallel to y -
axis' and drawn thréough the point of
intersection of the lines x — 7y + 5 = 0 and

3r+y=20

° Watch Video Solution



https://dl.doubtnut.com/l/_5pxYYs2gxIIZ
https://dl.doubtnut.com/l/_ujoc5QKpx8MU

78. Find the equation of a line drawn

perpendicular to the line £+£:1

4 6

through the point, where it meets the y -axis.

o Watch Video Solution

79. Find the area’ of the triangle formed by the

linesy —z =0,z +y=0andz — k=0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZCHhMdKZGYjY
https://dl.doubtnut.com/l/_ACc4WEakLqJd

80. Find the value of p so that the three lines
3 +y—2=0,pr +2y—3 =0. and

2z — y — 3 = 0 may intersect at one point.

o Watch Video Solution

81. If three lines whose equations are
Y =mixT + C1, Yy = My + Cy and
Yy = max + c3 are concurrent, then show that

mi(co — ¢c3) + ma(cs —e1) + ma(ep — ) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_wpn2FQtuA3Cc
https://dl.doubtnut.com/l/_Q8kIduJCInAa

82. Find the equation of the lines through the
point (3, 2) which make an angle 45° with the

linex — 2y =3

o Watch Video Solution

8. Find the equation of the line passing
through the point of intersection of the lines
dr +Ty—3 =0 and 2z —3y+ 1 =0 that

has equal intercepts on the axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q8kIduJCInAa
https://dl.doubtnut.com/l/_NWWH8EN4pkAy
https://dl.doubtnut.com/l/_iyk5ZI9yaZ4w

84.In what ratio, the line joining ( — 1, 1) and

(5, 7) is divided by the linez + y = 47

o Watch Video Solution

85. Find the distance of the line
4z + Ty + 5 = 0 from the point (1, 2) along

the line,2z —y =20

o Watch Video Solution



https://dl.doubtnut.com/l/_iyk5ZI9yaZ4w
https://dl.doubtnut.com/l/_DWcVsClRVEmK
https://dl.doubtnut.com/l/_AKwMrPOqgVnM
https://dl.doubtnut.com/l/_0b6xtYRC0FY0

86. Consider thelinexz + 3y — 7=10
Find the image of the point (3,8) with respect

to the given line.

° Watch Video Solution

87. A ray of light passing through the point
(1, 2) reflects on the x -axis at point A and
the reflected ray passes through the point

(5, 3). Find the coordinates of A.

o Watch Video Solution



https://dl.doubtnut.com/l/_0b6xtYRC0FY0
https://dl.doubtnut.com/l/_Ep0sww0hg5FO

88. A person standing at the junction
(crossing) of two straight paths represented
by. the equations 2r —-3y+4=0 and
3r +y—5=0 wants to reach the path
whose equation is 6z — 7Ty + 8 = 0 in the
least time. Find equation of the path that he

should follow.

o Watch Video Solution



https://dl.doubtnut.com/l/_M1B9JbTR3hip

89. In the Figure, time and distance graph of a
linear motion is given. Two positions of time
and distance are recorded as, when
T=0,D=2 and when T =3,D =8
Using the concept of slope, find law of motion,

l.e., how distance depends upon time.

o Watch Video Solution



https://dl.doubtnut.com/l/_Try1dHKGSvBc

90. If the slope of the .line joining (2, 5) and

(3, A) is —2, find the value of A.

° Watch Video Solution

91. Find the slope of the line passing through

the points (1, 6) and ( — 4, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_Try1dHKGSvBc
https://dl.doubtnut.com/l/_9m40LXRCalvt
https://dl.doubtnut.com/l/_tvpovqrBmTVU

92. Without using the pythagoras theorem,
show that the points (4,4),(3,5) and
( —1, — 1) are the vertices of a right angled

triangle

o Watch Video Solution

93. If the medians from A and B of the
triangle with vertices A(0,b), B(0,0) and
C(a, 0) are mutually perpendicular then show

thata = =+ /2b

| & I


https://dl.doubtnut.com/l/_L50XdZG0yEke
https://dl.doubtnut.com/l/_oRteTBVzTDfU

| ¥ Watch Video Solution |

94. Show that the points
(at%, 2at1) (at%, 2at2) and (a, 0) are collinear

ift1t2 —_- - ].

o Watch Video Solution

95. Find the equation of the straight line
which makes angle 30° with positive direction

of x - axis and cuts intercept 5 on the y - axis

o Watch Video Solution



https://dl.doubtnut.com/l/_oRteTBVzTDfU
https://dl.doubtnut.com/l/_Kfo74PIPeqwQ
https://dl.doubtnut.com/l/_bx8LDpH8LX3A

96. Find the equation of the line which makes

intercepts - 4 and 5 on the axes

o Watch Video Solution

97. Find the equation of the line for which

p = 5and a = 135°. Also sketch the line.

o Watch Video Solution



https://dl.doubtnut.com/l/_bx8LDpH8LX3A
https://dl.doubtnut.com/l/_HQQlC4pB52Ho
https://dl.doubtnut.com/l/_4JaNoDt5NzhC

98. Reduce the equation /3z +y— 8 =10

into normal form. Find the values of p and w.

o Watch Video Solution

99. Which of the lines 2z + 7y — 9 = 0 and
4r —y+ 11 = 0 is farther from the point

(2,3)?

o Watch Video Solution



https://dl.doubtnut.com/l/_j9Yd0T9k5OS4
https://dl.doubtnut.com/l/_SaixsHGioOSV

